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Nairobi                                                                     Mombasa 
8.00am                                                                      8.30am
80Km/h                                                                    120Km/h
Time = 
               




(ii)  Distance by coast bus for ½ hr.
         = 80 
   R.D = 400  - 40 = 360 Km
 R.S = 80 + 120 = 200Km/h
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22.  (i) 
Angles on a straight line 

(ii) 
  Angle on cyclic quadrilateral 
(iii) 
Base angle of isosceles  triangle 

(iv)
Angle between a chard a tangent( Nagle in alternate segment)
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Angles on a triangle.
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	23.  AB  height = 
                     
Area ABC 
= ½ 
= 10.78
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	Marks 
	x
	F
	Tx-A 
	FT
	CF

	48 – 52  
	50
	3
	-14
	-42
	3

	53 – 57    
	55
	4
	-9
	-36
	7

	58 – 62  
	60
	10
	-4
	-40
	17

	63 – 67 
	65
	12
	1
	12
	29

	68 – 72 
	70
	8
	6
	48
	37

	73 – 77 
	75
	
	11
	
	40


a. Modal class 63 – 67 
b. Mean =  A
    64 + 
      = 
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